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1.	 	(2a – 2a+1 + 2a+2)2	 = 12a

	 (2a(1 – 2 + 4))2	 = 12a

	 22a.9	 = 4a.3a

	 2 a2 .9	 = 2 a2 .3a

	 3a	 = 32

	 a	 = 2   olur.
Cevap: D

2.	 36a = 4a.9a = (2a)2.(3a)2 = x2.y2

Cevap: D

3.	 	 8x–3	 = a.23(x – 5)

	 8x.8–3	 = a.23x.2–15

	2 x3 .2–9	 = a. 2 x3 .2–15

	 2–9+15	 = a
	 a	 = 26 = 64

Cevap: D

4.	 	 4x+2	 = a.24+2x

	22x+4	 = a.22x+4

	 a	 = 1   olur.
Cevap: E

5.	 •	 2a.2b = 8	 ⇒	 2a+b = 23    ve    a + b = 3
•	 (5a)b = 625	 ⇒	 5a.b = 54	 ve	 a.b = 4

	 ⇒  (a + b)2 = 32	 ⇒	 a2 + 2ab + b2 = 9
		  a2 + 8 + b2	= 9
		  a2 + b2	= 1

•	 (3a)a.(3b)b = 3a2+b2 = 31 = 3  olur.
Cevap: B

6.	 (x – 3)(x2–9) = 1
i)	 x – 3 = 1	 ⇒	 x 4=

ii)	 x2 – 9 = 0	 ⇒	 x =  3
	 x = 3  için  00 olduğundan alamayız.
	 O halde  x 3=-   olur.

iii)	 x – 3 = –1	 ⇒	 x = 2  kuvveti çift sayı yapma-
dığından alamayız.

	 ⇒  x değerleri toplamı 4 – 3 = 1  olur.
Cevap: A
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Cevap: B
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x 	 ⇒      2x	= 162

			  2x	= 28

			  x	= 8  olur.
Cevap: E

9.	 		 7x+y–8	 = 22x–3y–4

⇒		  x + y – 8	= 0
	 +	 2x – 3y – 4	= 0
		  3x – 2y – 12	= 0
		  3x – 2y	= 12

Cevap: E

10.	 •	 3
1

7
4x

=` j    ⇒   3x = 4
7    ve   9x = 16

49

•	 9x.2y = 49

	 16
49 .2y = 49 	 ⇒	 2y	 = 16

			   2y	 = 24

			   y	 = 4  olur.
Cevap: E

11.	 5x+1 = 3x     ⇒     5x.5 = 3x     ⇒     5
3
x
x

 = 5

	 5
3 x` j 	= 5

	 25
9 x` j 	= 25  olur.

Cevap: D

12.	 •	 2a = 9   ⇒   2a = 32  
 ⇒   a b2

2
=

	 3b = 4   ⇒   22 = 3b   		  a.b	= 4  olur.

•	 (aa)b.(bb)a = aab.bab = (ab)ab = 44 = 28

Cevap: B

13.	 5x = 45	 ⇒	 5x = 5.32	 ⇒	 5x–1 = 32

3y = 75	 ⇒	 3y = 52.3	 ⇒	 52 = 3y–1

			   ⇒   x 2
1-  = y

2
1-

				    (x – 1)(y – 1)	= 4
				    xy – x – y + 1	= 4
				    xy – x – y	= 3

Cevap: C

14.	 (27 – x)y = 625 = 54

(27 – x)y = 252

y = 2 seçilirse 27 – x = 25   veya   27 – x = –25  ola-
bilir.
x'in büyük değeri	 27 – x	 = –25
	 x	 = 52
O halde   x + y = 52 + 2 = 54   olur.

Cevap: A


